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AP Statistics Ch 26 In-class practice:’Comparing Counts -
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Chapter 26 Practice Quiz
Practice Quiz - Chapter 26 Name

1. Abiology professor reports that historivally grades in her introductory biolegy course have
been distributed as follows: 15% A’s, 30% B's, 40% C’s, 10% D’s, and 5% F’s. Grades in her
most recent course were distributed as follows: | A

Gade |A|B|CIDJF
quuemﬂ&% 12} 'My? 12/ =3 %>
Peottd; 42 Th< 130 32057 6.2 , '
a. Test an appropriate hypothesis 1o decide if the professor’s most recent grade distribution
matches the historical distribution. Give statistical evidence to support your conclusion,
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b. Which grade impacted your decision the most? Explain what this means in the context of
the problem, pa [ e o ‘ '
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As part of a syrvey, students in a large statistics class were asked whether or not they ate

\,J ' breakfast fhat morning. The data appears in the following table:

ove py ;—f&an Z. \fa/‘m@'[e} Breakfast v
A / : Yes No | Total
j’%[w f’f“"’ : Sox Malc | 66 66 | 132

Female | 125 74 | 199
Tn'tal 191 140 331

I there evidence that eating breakfast is independent of the student’s sex? Test an approprm:te
‘hypothesis. Give statistical evidence to support your conclusion.

‘l“}Z? é‘%"“% é‘r«:&w«g"@@,ﬁ"é’"gﬁ iﬁg&,@l\ﬂ% c?‘@ @i“«&ﬁffu

Mﬁw ¥ @VW‘? &ﬂmmgwmﬁ 33 &@?’@Mﬂﬁé@&i‘{ U !QM, j@mzﬂ/‘r s ((/A'th %/%. J

otionS . couns? O SUS7 ho hatrypresentefia v E3peo

‘ X -5, 3"‘ —\q |vg,—, 02
; ) - N
(N P § bre «!’F ey > Y !%W Se € s’?‘js’*‘wf v{%
f("“ w2 .9 ¢ f@[«; 8

s Wi g!\fﬁ e‘Vle‘ M@é‘?% L& mg 'e.ﬂ’ i @q @‘é & @b@\
TR .b\ﬁ‘ i @,5 ,}mﬁ“f}aﬂc&m S%Wf; ‘% ﬂﬁ 4’§ ‘é’ ? |
2 ) gé’l»ﬂjéff@,éwisﬁﬁé? Wfi ‘9‘5#’@& (’/w N

/3. A manufacturing plant for recreational vehicles receives shipments from three different
- parts vendors. There has been a defect issue with some of the electrical wiring in the
*recreational vehicles manufactured at the plant. The mnt manager wonders if all of the
vendors might be contributing equally to the defect issue. The plant manager reviews a
sample of quality assurance inspections from the Tast 5ix months. The data are shown in the

table below.
Purrfeet Parts Co. | Made-4-U Co. | 25 Hour Parts Co.
Rejected A 53 48 Ll
Perfect 93 - 71 g8
Not perfect but acceptable 22 . 31 22

* Test an appropriate hypothesis to decide if the plant manager is correct. Give statistical
evidence to support yom conclusion, N
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